L@ i; .‘:qu . j ,}: “:}‘% a\r w"f,,'g ".‘ ,«; ‘3 \}k;j }/!} é’? 5 5 Eﬁ .ﬁ \ [\,," {:0 T( !{353 5 ‘_x! ‘ff,{}.j
B o

Arcver o,

1 bi’“ A4+ 3=0
= | The diz
é;,m
C =

Taissinngle

2 solutions (rahoncd ansyers

5;;& ws?;s,
h

s
—
S L
§

Y

‘?7?.

=

oy

wm% r”“u f%




5. L reat s Q"“-*‘ ? Lo = UIBO The verdex

T2 reod colutions

8. L solution (doubic raot )

e —

TN

Q. Fiwy= wt -7 (/ G and # (jg
a. %= T | » are not ond
b, o—VT ) Mo+ T ( - the g
C.o (- \f“fﬂf 1) Lon TF

%" = 7]

10, Flx)y= —20% + o + 5

-5 6= =2V L EVA

-2 (=L Er >( %+ AL
7 8 8

his ie the foctored out J.



F ?/LA H { J_”,j: W‘—\wj,;:‘:—é )(Ev,_w 1;‘[
- A




